$£35E AT A KE(2020.7.19)

BFAUSR
HEDIEFFRAIELT. D1-2,22-331-3&F 5,

KR T=AHE
J\BEF =R~

1Y YF EITRENTF—D BTy D

J—J BB E

Y—5A Al A2 A3 LS T P R R
At | 1 | BR sEmEETC) 8 8 — 1 :z 100 | 1
p | 0 |BEER—EBTO) * 8 — 2 —Hw | 2
m| s |EEA=EEBTC) * * — 3= |9

y—48 B1 B2 B3 S LG e e e
o1 | 2 |RBIERIG TS RAE—YRRE) °© x — 12 e
B2 | 12 |ESEAGBTO) * * — 3 e |
s | 7 |@FRBEST-RHS °© °© — 0|1 s

J—4'C cf ) c3 BR[| ron| | B2
ot | 3 |EMEBE-in X X — 3|
c2 | 10 |NISEZFEBTC) 8 : — 2 1: 50 | 2
s | 6 |EHAH(SUMCO TC) 8 8 _ i : 7|

1J—4D D1 D2 D3 BE |- me| B2
DI | 4 |BEEOLGEETC) X X — 3 2= |
D2 | 11 |FIITEAENTF—TO) 8 8 — 1 :j 7|
D3 | 5 |ALBALTAS) ° x — 2 e




350 MEAMT=—AKE(2020.7.19) K RIF=RIBL

BFAYVTRRBN—F AL BFAVSAML+BFBITAN—F AL
1EYbTYF EITRNT—2 LTy 6 —LER. /—TFRNT—2 LIy
6|2 1|6
61 6]1 613 0|6
6jo 216 6]3 316 61 6]3 416 0l6

o
|
]
_
]
_
o
|
]
|

AT D3 B1 D2 c3 c2 A2 B3 D1 B2 A3 E2 E1 E3 E4 C1
£ 7K X ] x 1 = il = & & #x = fn 23] £
iR + =7 ; H 753 B F 1B =1 23 i B 23 =) il
i $h B X 3 iR fn B 3 | Bt =1 & =] e

fit ( &t X LT3 = — th e} A = ( ( 1t £ -
b 1l ( EJ; ( ( ( ( ( ( EJ; *, W ( ( (
( i 5 S 3] 3] E 3] 3] iR I % < B
7] X r < U 5 ] H ] 5 7] Y S iR > -
] = a N M T T T T T 5 Y H Y T i
T ) = T C C C = C C T ) ) Y | n
c i | 0 ) ) =z ) ) c ) T
) | T % ) c %

W C T e )

* ) C )

iR )

I
)



E35E AT —AKE(2020.7.19)

KR T=RHE

B¥BYISR — BB J\IBET=2a—h
HEDIEFIZRAELT, D1-222-3@1-3¢F 3, 1EYrTYF /—TFRNT—D LTS
J—4B Ef E2 E3 E4 BB iEfs | s | pee | BE
|§jf§
O X o 14
E1 |[&#&EWISH) — 1 22 58 | 2
X (@) (@) 16
E2 |FFRIAMBICKIRYY) _ _ _ - 1 22 67 [ 1
o x o) 14
E3 |ANAEEISHCKIRYY) — 1 75 54 | 3
X X X 4
E4 |HEE&(R>T—TO) — 4 18 | 4

22




F34E M T=RAKE(2019.7.21) KR T=—A%&

TFAVSR )—T BB J\BBEF=Za—k
HEDIEFIZRAIELT, D1-222-331-3LF 3, 1EYRRYTF /TR TF—=D I TSPy
— o e | B
)= A 1 2 3 BB Bz | 5 —b | s it |
SESE T FEBTC) O O 2 — o1 2
6 — O 6 — 0 12| 100 | 1
. _ X X 4
BRI RN EZET=XER) 0o — 2|3
0 — 6 4 — 6 16| 25 3
BARENESET =) X © RN P
0 — 6 6 — 4 16| 38 2
y—4% B 1 2 3 4 BB Bt | s | maw | BE
JE L
o (0] X 14
EARBF(T)-) 2 — 1] 2 56 | 2
6 — 3|6 — 22 — 6 25
X (o) X 10
RS E(LE2ET = XER) 1 — 213 45 | 3
3 — 6 6 — 01 — 6 22
X X X 4
EREBNLEZET=XE) 0 — 3|4 18| 4
2 — 60 — 6 2 — 6 22
i O (0] (0] 18
EEETF(YYOST) 3 — 011 78 | 1
6 — 2(6 — 1|6 — 2 23
TFAYSRRB—FAVE 1R TYF . /—TRIAVTF—2 LTS vy

AD1L  ABEFFEBTO) 6
1
BD2f FEAKF(IU—) ‘ 6
1 HBEF
AD26L  BARERBABZET—XE) 6
0(RET)

BD1HL  EEREF(YYHSD)




	suwa1
	suwa2
	suwa3
	suwa4

